C:# Comparing Fractions to Decimals with Number Line  Name:

Use the number lineto solve each problem. Answers
1) : . 1 2) : . 6
Which amount islarger, /g or 0.24? Which amount islarger, /3o or 0.76? .
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Which amount is larger, /5 or 0.43? Which amount is larger, /5 or 0.28?
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Which amount is larger, /2 or 0.7? Which amount is larger, /8 or 0.627
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Which amount islarger, /g or 0.58? Which amount islarger, /g or 0.65?
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9 Which amount is larger, /10 0r 0.74? 100 \which amount is larger, /s or 0.37?
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ﬂh Comparing Fractionsto Decimalswith Number Line  Name: Answer Key

Use the number lineto solve each problem. Answers
) . 1 ) | 6
Which amount islarger, /g or 0.24? Which amount islarger, /3o or 0.76? . 0.24
1 2 3 4 5 6 7 12 3 45 6 7 8 9 '

0O 58 38 3 3 38 8 8 1 O 70 70 70 0 10 10 10 10 10 1 0.76
L0 L Ll | 1
F——T————1"17—""7 F——t—f—F——Feo+—F |2 :

10 20 30 .40 50 .60 .70 .80 .90 10 20 30 40 50 .60 .70 .80 .90
3 0.43
2
o /s
3 . 1 & | 2
Which amount is larger, /5 or 0.43? Which amount is larger, /5 or 0.28?
1 2 i 2 3 4 > 0.7
0 3 3 1 0 5 5 5 5 1
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7 0.58
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5 _ 1 6 . .. . 4 8. 8
Which amount islarger, /2 or 0.7? Which amount is larger, /8 or 0.627? 9
1 1 2 3 4 5 6 7 9 / 10
0 2 1 O 5 353 3 38 8 8 8 1
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10 20 30 .40 50 .60 .70 .80 .90 10 20 30 .40 50 .60 .70 .80 .90 10. :
7) : , 3 8) . . 6
Which amount islarger, /g or 0.58? Which amount islarger, /g or 0.65?
1 2 3 4 5 6 7 i1 2 3 4 5 6 7
O 53 3 3 8 838 8 8 1 O 5 & 3 &8 g 8 1
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F—"r—— " —1—Tero——
10 20 30 .40 50 .60 .70 .80 .90 10 20 30 .40 50 .60 .70 .80 .90
. . 9 . . 1
9 Which amount is larger, /10 0r 0.74? 100 \which amount is larger, /s or 0.37?
1 2 3 4 5 6 7 8 9 1 2 3 4
O 70 70 70 10 0 10 10 10 10 1 0 5 5 5 5 1
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10 20 30 .40 50 .60 .70 .80 .90 10 20 .30 40 50 .60 .70 .80 .90
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